HiE 112 84 — FE GHAE

113.04.12
Bk | DRk | SR | S | R | EERE [ B | EEEDT R =
211036 102 19 1 =k Ei58 4 1A ZIEE3 =
211043 103 7 1 — b Ei58 4 1A ZIEE3 =
211099 | 106 7 1 [ ESL 4 1A ZUIRE3AE
211112 107 1 1 — b B 4 1A ZIEE3 =
211114 107 3 1 — b Ei54 4 1A 2 IRES
211117 107 6 1 — b Ei54 4 1A ZIRES
211120 107 9 1 =—F Ei54 4 1A ZIRES
211125 107 14 1 — b Ei58 4 1A 2 IRES
211135 108 7 1 — b Ei58 4 1A ZIRES
211137 108 9 1 — b Ei54 4 1A 2 IRES
211143 108 15 1 — b Ei58 4 1A ZIRES
211144 108 16 1 — b Ei54 4 1A ZIRES
211145 108 17 1 — b Ei58 4 1A ZIRES
211149 109 4 1 — b Ei58 4 1A ZIRES
211152 109 7 1 — b Ei54 4 1A 2 IRES
211171 110 9 1 —Fb B 4 1A ZIRES =
211173 110 11 1 —Fb B 4 1A ZIRESE =
211181 111 2 1 —Fb B 4 1A ZIRESE =
211182 111 3 1 —Fb B 4 1A ZIRES =
211186 111 7 1 —Fb B 4 1A ZIRES =
211187 111 8 1 —Fb B 4 1A ZIRES =
211192 111 13 1 —Fb B 4 1A ZIRES =
211193 111 14 1 —Fb B 4 1A ZIRESE =
211194 111 15 1 —Fb B 4 1A ZIRESE =
211195 111 16 1 —Fb B 4 1A ZIRES =
211198 112 2 1 — b B L 4 1A ZIRES
211202 112 6 1 — b B 4 1A ZIRES
211207 112 11 1 — b B 4 1A ZIRES
211211 112 15 1 — b B 4 1A ZIRES
211248 112 19 1 — b B 4 1A ZIRES
211215 114 2 1 B L 4 1A ZIRES
211222 114 9 1 — b B 4 1A ZIRES
211228 114 15 1 — b B 4 1A ZIRES
211229 114 16 1 — b B 4 1A ZIRES
211252 114 19 1 — b B 4 1A ZIRES
011188 304 14 1 — b B 4 1A ZIRES
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%t £ (17 :10~20:00)
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